JL_

Sottrazione (orizzontale) Nome:
Risolvi ogni problema. Risposte
1.
1) 751 - 25 =
2.
2) 5.343 - 2.754 = 3
4.
3 214 - 1 =
5.
4 65 - 14 = °
7.
5 2.756 - 1 = o
9.
6) 70 - 5 =
10.
7) 9.238 - 12 = 11.
12.
8 160 - 49 =
9 53 - 32 =
10) 2.143 - 342 =
11) 942 - 835 =
12) 796 - 732 =
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ﬂh Sottrazione (orizzontale) Nome:

Soluzioni

Risolvi ogni problema. Risposte

1 726
1) 751 - 25 = 726

2 2.589
2) 5,343 - 2.754 = 2.589 3. 213

4. ol
3 214 - 1 = 213

5. 2.755
4 65 - 14 = 51 6 65

7 0.226
5) 2.756 - 1 = 2.755 8 111

9 21
6) 70 - 5 = 65

10, 1.801
7) 9,238 - 12 = 9.226 11. 107

12 64

8 160 - 49 111

9 53 - 32 = 21

100 2.143 - 342 = 1.801

11) 942 - 835 = 107

12) 796 - 732 = 64
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C:# Sottrazione (orizzontale) Nome:

Risolvi ogni problema. Risposte
2.589 1.801 65 213 726
51 2.755 9.226 21 111 1.
2.
1) 751 - 25 =

2) 5,343 - 2.754 =

3 214 - 1 6.

4 65 - 14 = 8.

9.
5 2.756 - 1 = 0
6) 70 - 5 =

7) 9.238 - 12 =

8 160 - 49

9 53 - 32 =

10) 2.143 - 342 =
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